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its necessary that results of ui and ui' are the same up to ti=0.6

Wiy = Au; + Bu; + Cp; + Dp; 4y (5.2.5a)
iy = A'ui + B'i; + C'pi + D' piyy (5.2.5b)

TABLE E5.1a NUMERICAL SOLUTION USING LINEAR INTERPOLATION OF EXCITATION

l; Pi Cpi Dpi ) Bu; I Au; U; Theoretical u;
0.0 0.0000 0.0000 0.0318 0.0000 0.0000 0.0000 0.0000 0.0000
0.1 5.0000 0.0618 0.0550 0.0848 0.9354 0.0258 0.0318 0.0328
0.2 8.6602 0.1070 0.0635 0.2782 3.0679 0.1849 0.2274 0.2332
0.3  10.0000 0.1236 0.0550 0.4403 4.8558 0.5150 0.6336 0.6487
0.4 8.6603 0.1070 0.0318 0.4290 47318 0.9218 1.1339 1.1605
0.5 5.0000 0.0618 0.0000 0.1753 1.9336 1.2109 1.4896 1.5241
0.6 0.0000 0.0000 0.0000 =0.2735 =3.0159 1.1771 1.4480 1.4814
0.7 0.0000 0.0000 0.0000 —=0.6767 —7.4631 0.7346 0.9037 0.9245
0.8 0.0000 0.0000 0.0000 —0.8048 —8.8765 0.0471 0.0579 0.0593
0.9 0.0000 0.0000 0.0000 —=0.6272 —-69177 —=0.6160 —0.7577 —0.7751

1.0 0.0000 =2.5171 —1.2432 —1.2718




TABLE E5.1b NUMERICAL SOLUTION USING LINEAR INTERPOLATION OF EXCITATION

I8 pi C'pi  D'pisy A'u; u; B'u; 1; Theoretical u;
0.0 0.0000 0.0000 0.9354 0.0000 0.0000 0.0000 0.0000 0.0000
0.1 5.0000 08544 1.6201 —=0.1137 0.0318 0.7071 0.9354 0.9567
0.2 8.6602 14799 1.8707 —0.8140 0.2274 2.3192 3.0679 3.1383
0.3 10.0000 17088 1.6201 —=2.2679 0.6336 3.6708 4.8558 4.9674
0.4 8.6603 14799 009354 —4.0588 1.1339 3.5771 47318 4.8408
0.5 5.0000 0.8544 0.0000 —5.3320 1.4896 14617 1.9336 1.9783
0.6 0.0000 0.0000 0.0000 —5.1832 1.4480 —=2.2799 —-3.0159 —3.0848
0.7 0.0000 0.0000 0.0000 —3.2347 0.9037 —5.6418 —=7.4631 —7.6346
0.8 0.0000 0.0000 0.0000 —0.2074 0.0579 —6.7103 —8.8765 —9.0808
0.9 0.0000 0.0000 0.0000 27124 —=0.7577 —=5.2295 —6.9177 =7.0771
1.0 0.0000 —1.2432 -2.5171 —2.5754




